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QUESTION 1

Identify three activities that you can perform from the Collections Dashboard. (Choose three.)
A. Verify Customer Payments.

B. Assign a Collector to a delinquent customer.

C. View the Total Amount Due for delinquent customers.

D. Record an activity to create a task or tasks to follow up on a delinquent customer.

E. Update the work status of a work item for a delinquent customer.

Correct Answer: BDE

QUESTION 2

Which three receipts can be automatically applied by the "Apply Receipts Using AutoMatch" process?
A. Receipts that are manually created.

B. Miscellaneous receipts.

C. Receipts created from a lockbox and uploaded.

D. Receipts created in a spreadsheet and uploaded.

E. Receipts with unapplied amounts.

Correct Answer: ACD

QUESTION 3

You have created two transactions with a 30-day payment term. The first transaction is on January 29, 2015 and the
second transaction is on January 31, 2015. The invoice date is the same as the system date. Both transactions are
assigned an unsigned receipt method that has the lead days set to 60, number of bills receivable rule set to one per
customer, and the bills receivable maturity date rule set to latest. Which statement is true when the create bills
receivable batch is processed for a customer on January 31, 2015?

A. A Bills Receivable is created with the issue date as January 31, 2015 and the maturity date as March 2, 2015.

B. A Bills Receivable is created with the issue date as January 31, 2015 and the maturity date as February 28, 2015.
C. A Bills Receivable is created with the issue date as January 31, 2015 and the maturity date as March 30, 2015.
D. Two Bills Receivable transactions are created with maturity dates as March 30, 2015 and April 1, 2015.

E. Two Bills Receivable transactions are created with the issue dates as January 29, 2015 and January 31, 2015.

F. Two Bills Receivable transactions are created with the issue date and accounting date as January 29, 2015 and
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January 31, 2015, respectively.

Correct Answer: D

QUESTION 4
Which three actions are facilitated through the Reconciliation Summary Report? (Choose three.)
A. drilldown to see reconciliation details and to make reconciling corrections

B. drilldown on the difference amounts to see specific reconciling items and the potential cause of the outof-balance
condition

C. drilldown from any of the summarized Receivables and Accounting amounts to see detailed activity
D. drilldown to see details of unaccounted revenue transactions not transferred and posted to the General Ledger

E. drilldown to view data and use standard Excel functions such as sum, find, sort, and filtering without actually
downloading to Excel

Correct Answer: BCE

QUESTION 5

When deciding how to set up the system to recognize revenue, it is important to understand the extent of
revenue deferral and the subsequent timing of revenue recognition.

Which two statements are true when you consider that recognition depends on the nature of the
contingency? (Choose two.)

A. Time-based contingencies can expire, but the contingency will have to be removed manually before the revenue is
recognized if payment is not due yet.

B. Pre-billing customer acceptance clauses require the recording of customer acceptance in the feeder system, or its
expiration, before importing into Receivables for invoicing. Customer acceptance or its expiration must occur before the
contingency can be removed and the order can be imported into Receivables for invoicing.

C. Post-billing customer acceptance clauses must expire (implicit acceptance), or be manually accepted (explicit
acceptance), before the contingency can be removed and revenue recognized.

D. Time-based contingencies must not expire before the contingency can be removed and revenue recognized.

E. Payment-based contingencies do not always require payment before the contingency can be removed and revenue
recognized.

Correct Answer: BC
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